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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence,
Then mark the answer on your answer sheet,

1- 1t had not rained on the prairic for scveral months, Becausce of the drought, the climate
had become very ——-—-—-—--—--- 2
1) unstcady 2) rigid 3) intense 4) arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residence—weed grew ---—--—-- in the front yard.
1) unchecked 2) unjustificd 3) complicated 4) scanly

3-  Can vou please —-=--—-—- this last part of the lesson for me; I’m not sure [ understood.
1) recapitulate 2) identily 3) postulate 4) recount

4-  Gerry’s dissatisfaction with our work was —--—-—--——- in his expression, although he never
criticized us directly.
1) vulncrable 2) bright 3) implicit 4) humble

5-  The world’s coal, oil and gas —--——-— are finite; one day they will run out, so think now
abhout what vou can do to consume less.
1) appliances 2) deposits 3) relics 4) amenitics

6-  You are recommended to use mnemonics to help vou -----—--—- important items of
information.
I) enumerate 2) expose 3) recall 4) withdraw

7-  The lifespan of a mayfly is -----—----- , lasting from a few hours to a couple of days.
1) impreeise 2) ¢phemeral 3) superficial 4) swill

8-  His words to the press were deliberately ----------——--; he didn’t deny the reports but
neither did he confirm them.
1)y mutual 2) essential 3) dogmatic 4) equivocal

9-  Hundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to ------—-—-- the building
immediately.
1) expel 2) evacuate 3) disperse 4) detach

10- Computers have helped solve some of the mathematical --------— which have puzzled
man for many centuries.
1) conundrums 2) caprices 3) artifacts 4) chronologies
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Pncumonia is an acute or chronic inflammation ol the lungs and bronchi characterized
by disturbance in respiration and hyvpoxemia and complicated by the systemic ellects
ol associated toxins. The usual causc is primary viral infection of the lower respiratory
tract. Canine distemper virus. parainfluenza virus and feline calicivirus cause lesions
in the distal airways and predispose to secondary bacterial invasion of the lungs.
Parasitic invasion of the bronchi, as by l'ilaroides. Aelurostrongylus, or Paragonimus
spp may result in pneumonia. The incidence of mycotic granulomatous pneumonias is
also higher in dogs than in cats. The initial signs are usually those of the primary
disease. Lethargy and anorexia are common. A deep cough is noted. Progressive
dvspnea., blowing of the lips and cyvanosis may be evident, especially on exercise.
Body temperature is increased moderately, and there may be leukocytosis.

16- What does 'hypoxemia’ mean?

1) Decreased oxygen in tissues 2) Insufficient oxygen in blood
3) Excessive oxygen in blood 4y Disturbance in respiration
17-  As mentionced in the passage, lesions in Pncumonia could be observed in -—-—--—-——-— .
1) larvnx and trachea 2) nosc and Larynx
3) bronchioles or terminal airways 4) trachca and primary bronchus
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18-

19-

20-

21-

22-

24-

The responsible agents for induction of the granulomatous pneamonias are -=-----—---—-,
1) lungi 2) bacleria 3) parasitcs 4) viruscs

Which of the following statements happens when 'progressive dyspnea’ ocenrs?

1) Quick breathing is scen. 2) Breathing stops gradually.

3) Breathing stops completely. 4) There would be a difficulty in breathing.
Ohbservation of 'leukocytosis’ in pneumonia implies —--------—--,

1) a reduction in leukocytes

2) a serious pathologic condition

3) an increase in body temperature

4y an elevation in the number of leukocytes

PASSAGE 2:

Rickets or hypovitaminosis [, 1s seen under extreme circumstances including
unsupplemented homemade foods. in dogs with an inability to absorb fat, and in cases
ol inborn crrors of vilamin D3 mctabolism. The ability to synthesize cholecalceilcrol in
the skin under the influcnce ol ultraviolet light has been developed in amphibians,
repliles, birds, herbivores, and omnivores, excluding dogs and cats. The cutancous
level of the vitamin D3 precursor 7- dehydrocholesterol (7-DIC) 1s Tow due Lo a high
level of 7-DIIC reductase, an enzyme with a high activity that converts 7-DILIC into
cholesterol. Thus dogs and cats are solely dependent on dietary sources to meet their
vitamin [J requirement.

Commercially available dog and cat food does not need any vitamin D
supplementation, regardless of the season or the latitude. especially since vitamin
content in most cases is above the recommended daily requirement. Dietary vitamin D
is absorbed in the intestine by passive diffusion, transported in plasma bound to
chylomicrons, lipoproteins, and vilamin D-binding protcins (DBP), and routed to the
liver where 40-60% will be absorbed.

Which of the following factors is NOT a reason why Rickets may be observed in dogs?

1) Failure in lal absorption 2) Inherited disorders of metabolism
3) Vitamin D deprivation in food 4y Ability (o synthesivze cholecalcilerol
In which of the following groups, some animals need cholecalciferol?

1) Carnivores 2) Amphibians 3) Ierbivores 4y Avian

Dogs need vitamin D3 precursor supplements for all the following reasons EXCEPT

1) presence ol 7-THIC reductase at high level

2) their inability to synthesize cholecalciferol

3) high level of enzyme conversion into cholesterol

4) high level of 7-dehydrocholesterol

Available foods in markets for dogs do not need any vitamin D because ------—--—--,
1) the season is involved in their needs

2) involvement of the latitude is a concern

3) the content of these foods is more than their needs

4y passive absorption takes place in the intestine
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25-

26-

27-

28-

29-

30-

In which of the following sites is the binding form of vitamin D constituted?

1) Intestinal villi 2) Blood tissuc
3) Hepatoeytes ol Liver 4) Gastric mucosa
PASSAGE 3:

Hquine practice has evolved along similar lines to small-animal practice. Some aspects
of it. such as reproduction, intensive clinical care of the newborn foal, and the
treatment of diseases of valuable competitive horses. have advanced a great deal. 'The
great strides that have been made in our understanding of the diagnosis, prognosis. and
medical therapy of colic in the horse are a result of the medical expertise that has been
uscd. Our improved understanding ol the prognosis ol cquine colic 1s in parl
allributable to prospective studics of the ¢linical and laboratory [indings in horscs with
colic. Although advanced diagnostic and therapeutic procedures are being done on
valuable horses, the high linancial value of some horses has provided the impetus lor
the development of these services and also understanding ol infectious and contagious
diseases of horses have increased markedly. 'The economic incentive to control these
diseases has resulted in considerable increases in knowledge of their etiology,
epidemiology. immunology, diagnosis, and prevention.

Which definition matches the meaning of 'prognosis'?

1) Recognizing the symptoms 2) Examination of the animal

3) Forecasting the condition of disease 4) Appearance of the signs
Prospective studies refer to the kind of studies that are -------—--—-—- :

1) clinical assessments 2) statistically evaluated

3) related to the past history 4) pertaining 1o the future aspects
Therapcutic procedures are considered as the actions in relation with --—---———-- .
1) clinical examination 2) paraclinical examination

3) treatment 4) surgery

All of the following terms have close meanings with 'econtagious’ discases EXCEPT

1) zymotic 2) curative

3) transmissible 4) communicalive

Which definition best refers to the concept of 'etiology'?

1) Perception of the nature of a disease 2) I'inding paraclinical data

3) Study of the reason for improvement  4) Study of the original cause of a disease
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